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FLAT SEQUENCE

Row 1 (WS): P1, (k1, p1) 2 times, [k1, (sl1, k1) 7 times, p1,
sl1, p1] 6 times, k1 (sl1, k1) 7 times, p1 (k1, p1) 2 times.
Row 2 (RS): K1, (p1, k1) 2 times, (k15, yo, s2kp, yo) 6 times,
k16, (p1, k1) 2 times.

Row 3 (WS): P1, (kl, p1) 2 times, [sl1, (k1, sl1) 7 times, p1,
sl1, p1] 6 times, sl1, (k1, sl1) 7 times, p1, (k1, p1) 2 times.
Row 4 (RS): Rep row 2.

IN THE ROUND SEQUENCE

Rnd 1: K1, (p1, k1) 2 times, [p1, (sl1, p1) 7 times, k1, sI1, k1]
6 times, pl (sl1, p1) 7 times, (k1, p1) 2 times.

Rnd 2: K1, (p1, k1) 2 times, (k15, yo, s2kp, yo) 6 times, k15,
(k1, p1) 2 times.

Rnd 3: K1, (p1, k1) 2 times, [sl1, (p1, sl1) 7 times, k1, sl1, k1]
6 times, sl (p1, sl1) 7 times, (k1, p1) 2 times.

Rnd 4: Rep row 2.



